#### SQUAW VALLEY PUBLIC SERVICE DISTRICT PROGRESS PAYMENT REPORT

Stream Aquifer Study Phase II

EXHIBIT # D - 7

12/16/2014

DATE:

PROJECT NUMBER:	10-00-1309	999		PAYMENT ESTIMATE #:	17
CONTRACTOR NAME & ADDRESS:		rics Water Resource klin Street, Suite 501 CA 94612		PERIOD:	11/01/14-11/30/14
BID AMOUNT: NET CHANGE ORDERS ADJUSTED CONTRACT WORK COMPLETED: % WORK COMPLETED:	27	\$257,815.00 \$257,815.00 \$181,113.05 70%		ORIGINAL TIME: REVISED TIME: TIME ELAPSED: % TIME ELAPSED:	N/A
			PREVIOUS	CURRENT	TO DATE
EARNINGS: Work Completed Retention on Wo Net Earning	rk Complet	ed Completed	169722.43 0.00 169722.43	11390.62 0.00 11390.62	181113.05 0.00 181113.05
Materials on Han Retention on Mat <b>Net Earning</b>	terials s On Mate		0.00	0.00	0.00 0.00 0.00
TOTAL NET	EARNING	iS .	169722.43	11390.62	181113.05
DEDUCTIONS: 1. 2. 3. Total Deduct	ions	-	0.00	0.00	0.00 0.00 0.00 0.00
OTHER ADJUSTMEN 1. 2. 3.	NTS:				0.00 0.00 0.00
Total Adjust	ments	- -	0.00	0.00	0.00
	REVIOUS F	D EARNINGS PAYMENTS	169722.43	11390.62	181113.05 -169722.43 11390.62

APPROVED BY:

Michael T. Geary, General Manager

PROJECT TITLE:

# SQUAW VALLEY PUBLIC SERVICE DISTRICT

PROGRESS PAYMENT REPORT PAGE 2

PROJECT TITLE Stream Aquifer Study Phase II

PROJECT #: 10-00-130999

INVOICE DATED: 12/3/2014

PAYMENT ESTIMATE #: 17
PERIOD: 11/01/14-11/30/14

CONTRACTOR: HydroMetrics Water Resources, Inc.

\$181,113.05	\$11,390.62	4	\$109,122.43	•	\$237,013.00	4			
2	200000	9	160 700 40	9	257 245 00	6		PROJECT TOTAL	1
\$20,266.89	\$3,830.93		16435.96		\$25,222.00			Subtotal Task 5	
0.80 12049.20	3830.93	0.26	8218.27	0.55	15022.00	15022.00	1.00 lump sum	5.3 Meetings (four)	5
0.28 430.00	0.00		430.00	0.28	1560.00	1560.00	1.00 lump sum	5.2 Contract Administration	5
0.90 7787.69	0.00	0.00	7787.69	0.90	8640.00	8640.00	1.00 lump sum	5.1 Project Management	رن د
								Task 5: Administration	Tas
\$73,683.97	\$7,559.69		66124.28		\$63,853.00			Subtotal Task 4	
2.10 23033.75	7559.69	0.69	15474.06	1.41	10975.00	10975.00	1.00 lump sum	4.5 Final Report	4
0.94 15885.00	0.00	0.00	15885.00	0.94	16860.00	16860.00	1.00 lump sum	4.4 Tech Memo on the Groundwater Model Update & Sce	4
1.07 12548.97	0.00	0.00	12548.97	1.07	11718.00	11718.00	1.00 lump sum	4.3 Technical Memorandum on on LLNL Temperature Iso	4
0.82 7972.50	0.00	0.00	7972.50	0.82	9720.00	9720.00	1.00 lump sum	4.2 Technical Memorandum on Pumping Impacts on Squ	4
0.98 14243.75	0.00	0.00	14243.75	0.98	14580.00	14580.00	1.00 lump sum	4.1 Technical Memorandum on Seasonal Creek/Aquifer It	4
								Task 4: Reporting	Tas
0.00 \$0.00	\$0.00		0.00		\$15,720.00	15720.00	1.00 lump sum	For Olympic Valley	- 20
								Task 3: Develop Groundwater Dumping Guide	Tac
\$50,741.25	\$0.00		50741.25		\$75,780.00			Subtotal Task 2	
	0.00	0.00	0.00		21060.00	21060.00	1.00 lump sum	2.4 Design and Run Up to Five Mode Scenarios	2
	0.00	0.00	29687.50	0.89	33540.00	33540.00	1.00 lump sum	2.3 Run Model and Calibrate	2
_	0.00		12066.25	1.00	12120.00	12120.00	1.00 lump sum	2.2 Update Input Data	2
0.99 8987.50	0.00		8987.50	0.99	9060.00	9060.00	1.00 lump sum	2.1 Update conceptual Model	N
	***						Results	Task 2: Integrate the Creek/Aquifer Interaction Results into the OV Groundwater Flow Model	Tas
\$36,420.94	\$0.00		\$36,420.94		\$77,240.00			Subtotal Task 1	
0.23 10144.69	0.00	0.00	10144.69	0.23	43640.00	43640.00	1.00 lump sum	1.3 Integrate 1.1 & 1.2 Results w/LLNL Climate Change 8	_
	0.00	0.00	10377.65	0.59	17700.00	17700.00	1.00 lump sum	1.2 Establish Pumping Impacts on Squaw Creek	_
1.00 15898.60	0.00		15898.60	1.00	15900.00	15900.00	1.00 lump sum	1.1 Quantify Stream/Aquifer Interaction	_
-	$\dashv$	L						Task 1: Assement & Eval of Phase 1 Data	Tas
ONTY AMOUNT	UNT	QNTY	AMOUNT	QNTY	OTAL PRICE	UNIT PRICE OTAL PRICE	QNTY UNIT	ITEM# DESCRIPTION OF WORK	ITEI
TO DATE	ENT	CURRENT	PREVIOUS	PRE\				3/D	BID
	WORK COMPLETED	NORK CO	_			BID AMOUNTS	BID A		

HydroMetrics Water Resources Inc. 1814 Franklin Street, Suite 501 Oakland, CA 94612

#### Invoice

Invoice Date:	Invoice #:
12/3/2014	2014236

Bill To:

Squaw Valley Public Service District Mike Geary General Manager PO Box 2026 Olympic Valley, CA 96146-2026

			Terms	Project:	Client Ref#
			Net 30	C-Phase II	
Period of Effort	Consultants	Description	Hours/Qty	Rate	Amount
November 2014		PHASE II STREAM/AQUIFER STUDY			
		TASK 4.5 FINAL REPORT			
	Derrik Williams	Prepare draft final report. Finalize Phase II Report. Upload reports to SVPSD for their website.	17	215.00	3,655.00
	Georgina King	Assist with CD labels.	0.5	185.00	92.50
	Haleemah Qureshi	Burn CDs, create and affix labels.	4.5	100.00	450.00
	Sandra Inouye	Print and collate report. Package and send.	16.5	65.00	1,072.50
		REIMBURSABLE EXPENSES			
		Paper		176.38	176.38
		Label Dividers		126.39	126.39~
		1" Binders (purchased and returned)		-67.86	-67.86
		1 1/2" Binders		169.38	169.38~
		CD Shells		30.48	30.48
		Federal Express		312.22	312.22
		Subtotal Reimbursable Expenses			746.99
		Markup		10.00%	74.70
		Total Reimbursable Expenses			821.69
		IN HOUSE REPORT PRODUCTION			
		Production of Report: 367 pages x 40 reports	14,680	0.10	1,468.00
		Troubles of Reports 507 pages & to reports	11,000	3.10	1,
	10.1111				
			Tota	I	

Total

Payments/Credits

**Balance Due** 

Phone #	Fax:	E-Mail
(510) 903-0458	(510) 903-0468	accounting@HydroMetricsWRI.com

HydroMetrics Water Resources Inc. 1814 Franklin Street, Suite 501 Oakland, CA 94612

#### **Invoice**

Invoice Date:	Invoice #:
12/3/2014	2014236

Bill To:

Squaw Valley Public Service District Mike Geary General Manager PO Box 2026 Olympic Valley, CA 96146-2026

			Terms	Project:	Client Ref#
			Net 30	C-Phase II	
Period of Effort	Consultants	Description	Hours/Qty	Rate	Amount
	Derrik Williams	TASK 5.3 MEETINGS Prepare for, travel to, and attend November 21 Board of Directors Meeting.  REIMBURSABLE EXPENSES  Hotel: Red Wolf Lodge Zipcar Meals Subtotal Reimbursable Expenses Markup Total Reimbursable Expenses	16	215.00 137.23 170.09 48.07 10.00%	3,440.00  137.23  170.09  48.07  355.39  35.54  390.93
			Tota	I	\$11,390.62

Payments/Credits \$0.00

**Balance Due** 

\$11,390.62

Phone #	Fax:	E-Mail
(510) 903-0458	(510) 903-0468	accounting@HydroMetricsWRI.com



### HydroMetrics Water Resources Inc. Costs by Job

	Date	Source Name	Memo	Amount
SquawValle	y			
C-Phase	II Stream	/Aquifer Study		
1	1/04/2014	Amazon.com	Task 4.5: 3 hole paper	127.36
1	1/04/2014	Office Depot	Task 4.5: label dividers	34.88
1	1/04/2014	Quill.com	Task 4.5: CD shells	30.48
1	1/04/2014	Office Depot	Task 4.5: binders (to be returned)	42.34
		Office Depot	Task 4.5: label dividers	91.51
		Office Depot	Task 4.5: binders for report 1 1/2"	169.38
		Office Depot	Task 4.5: 1 inch binders returned (prev charged Jan 2014 invoice)	(67.85)
	1/07/2014		Task 4.5: 2 extra reams of paper	49.02
		Office Depot	Task 4.5: 1 inch binders returned	(42.35)
		FedEx Kinko's	Task 4.5: shipment of 40 binders	312.22
1	1/18/2014	HOTEL	Task 5.3: Hotel Nov 21 Board Mtg- Red Wolf Lodge	137.23
	1/20/2014		Task 5.3: Zipcar - Board meeting	170.09
	1/20/2014		Task 5.3: dinner b4 Board Mtg	37.62
	1/21/2014		Task 5.3: meal before Nov 21 Board mtg	10.45
		ream/Aquifer Stu	dy	1,102.38
Total Squaw\	Valley			1,102.38
TAL			=	1,102.38

amazon.com

Final Details for Order #105-6708915-9478640 Print this page for your records.

Order Placed: November 4, 2014

Amazon.com order number: 105-6708915-9478640

Order Total: \$127.36

Shipped on November 4, 2014

Price **Items Ordered** \$14.61 6 of: Hammermill 8-1/2 x 11 Inches 24 Pounds 96 Brightness 3 Hole Punched Fore MP Paper, 500Sheets/Ream (101287)

Sold by: Amazon.com LLC

Condition: New

Shipping Address: HYDROMETRICS WRI 1814 FRANKLIN ST STE 501 OAKLAND, CA 94612-3461

United States

Item(s) Subtotal: \$87.66 Shipping & Handling: \$0.00

Total before tax: \$87.66

Sales Tax: \$7.86

Shipping Speed:

Two-Day Shipping

Total for This Shipment: \$95.52

Shipped on November 5, 2014

Price **Items Ordered** 2 of: Hammermill 8-1/2 x 11 Inches 24 Pounds 96 Brightness 3 Hole Punched Fore MP Paper, 500Sheets/Ream (101287) \$14.61

Sold by: Amazon.com LLC

Condition: New

Shipping Address: HYDROMETRICS WRI 1814 FRANKLIN ST STE 501

OAKLAND, CA 94612-3461

United States

Shipping Speed: Two-Day Shipping Item(s) Subtotal: \$29.22

Shipping & Handling: \$0.00

Total before tax: \$29.22

Sales Tax: \$2.62

Total for This Shipment: \$31.84

Payment information

Payment Method:

MasterCard | Last digits: 1391

Reference number: 796

Billing address HYDROMETRICS WRI 1814 FRANKLIN ST STE 501 OAKLAND, CA 94612-3461

Credit Card transactions

United States

Item(s) Subtotal: \$116.88 Shipping & Handling: \$0.00

Total before tax: \$116.88

Estimated tax to be collected: \$10.48

Grand Total: \$127.36

MasterCard ending in 1391: November 4, 2014: \$95.52

MasterCard ending in 1391: November 5, 2014: \$31.84

To view the status of your order, return to Order Summary.

Please note: This is not a VAT invoice.

Conditions of Use | Privacy Notice @ 1996-2014, Amazon.com, Inc. or its affiliates



\* \* \* INVOICE \* \* \*

OFFICE DEPOT 1-800-GO-DEPOT 6700 AUTOMALL PKWY. FREMONT CA 94538

Order Number 738777340-001

00001 HYDROMETRICS 1814 FRANKLIN ST STE 501 OAKLAND CA 94612-3461 Billing Address Order Summary

Shipping Address

00001 HYDROMETRICS 1814 FRANKLIN ST STE 501 OAKLAND CA 94612-3461

Customer#: Contact: Phone#: Customer Information

E: 68122077 OFFICE MANAGER 510-123-1234

Route/Stop/Door: 0140/000/021 Order Date: 04-Nov-2014 Delivery Date: 05-Nov-2014 Additional Information

Carton Count

	Line		
10	Ordered	0	
ю	Shipped	Quantity	
0	Back Ordered		
470179	Item Number		
MAKER, INDEX,5 TAB, LSR,5/ST, WHT LOW PRICE GUARANTEE	Description		ונפווו טפומווס
SET	Units		
24.990 8.990-	Unit Price		
49.98 17.98.	Total		

toll free at (888) GO-DEPOT your order please call us you have any questions about Thank you for your order. If

Did you know you can shop 24hours a day, online at WWW.OFFICEDEPOT.COM?

CA are F.O.B. destination and -owned sub of Office Depot Inc sales shipped to customers in For legal/financial compliance

made by eDepot LLC, a wholly

Charged To: Order Total Sales Tax( 9.00%) Small Order Handling Fee 0.00 0.00 32.00 2.88 34.88

: 1135 Bich 2227 Ord 738777340001 BO 811079 A Batch Prt U0B Dte 11-04 16:22 118 PW20 C REGC



Order Date : 11/04/2014 Ship Date : 11/05/2014 InvoiceDate : 11/06/2014 TIN : 36-2952904

# **Credit Card Purchase Receipt**

1814 Franklin St #50 #501 Oakland CA 94612-3487 Hydro Metrics Wri Office Manager

Office Manager 1814 Franklin St #50 #501 Oakland CA 94612 Hydro Metrics Wri

901-IVR83210 Item Number Customer PO: customervalued Innovera cd shell, 2Hole, 10Pk Description Order#: 73339470 Clear Color Invoice#: 7624216 Qty \$6.99/pack Price/UM Account# : C6672355 Extended \$34,95

Remember you can check your order status & tracking, print invoices and more in the Manage My Account section on Quill.com Mdse Total: \$34.95 \$3.15 7.52 Free

ink & toner

Earm up to \$20 per month in QuillCash Go to Quill.com/inkrecycle

Freight:

Tax:

in your check and remit your payment to the address shown below. To help apply your payment properly, remember to include your account # hen the account alert link.

This receipt is pending settlement from our bank

To get started, just go to quill.com, click on the "My Account" link, 30 paperless! Get email alerts when you have new invoices.

This amount has been charged to your credit card

\$38.10

38/26

WIII.com

WE DO WHAT IT TAKES P.O.BOX 37600 Philadelphia, PA 19101-0600

business with us, we will simply do will never let you down! If you are ever We guarantee the total Quill Experience ess than 100% satisfied when you do

> THIS IS A RECEIPT FOR YOUR **PURCHASE RECORDS** DO NOT PAY

For Customer Service Inquiries Call 1-800-789-8965

OFFICE DEPOT 1-800-GO-DEPOT 6700 AUTOMALL PKWY. FREMONT CA 94538

Order Number

739365598-001

Customer#: 68122077 Contact: OFFICE MANAGER Phone#: 510-123-1234

Route/Stop/Door: 0140/000/021 Order Date: 06-Nov-2014 Delivery Date: 07-Nov-2014 Additional Information

0	Ordered	
0 396251	Item Number	
BINDER, OD, VIEW, RR, 1.5", WHITE	Description	Item Details
EACH	Units	
3.790	Unit Price	
155.39	Total	

41

41 Shipped Quantity

	nber
BINDER,OD, VIEW,RR,1.5", WHITE	Description
 EACH	Units
3.790	Unit Price
155.39	Total

Thank you for your order. If you have any questions about your order please call us toll free at (888) GO-DEPOT.

WWW.OFFICEDEPOT.COM? Did you know you can shop

24hours a day, online at

For legal/financial compliance

sales shipped to customers in CA are F.O.B. destination and made by eDepot LLC, a wholly -owned sub of Office Depot Inc

Charged To: Balance Due Order Total Sales Tax( 9.00%) Subtotal Merchandise Total Delivery Charge 155.39 0.00 155.39 13.99 0.00

Office DEPOT

Order Detail Order Information

OAKLAND Shipping Address: HYDROMETRICS 1814 FRANKLIN ST STE 501 Office Depot Rewards® Account: 94612-3461 11/04/2014 Delivery: 11/05/2014 08:30 AM - 05:00 PM Tracking: Status: Shipped Date:

Delivered

HYDROMETRICS 1814 FRANKLIN ST STE 501 OAKLAND CA 94612-3461

00001 HYDROMETRICS 1814 FRANKLIN ST STE 501 OAKLAND CA 94612-3461

Billing Address

Order Summary

Carton Count

Shipping Address

Scolich® Transparent Tape, 1\* Core, 3/4" x 1,000", Pack Of 3 tem # 986872 Review This Product Qty Pricefunit \$8.50/ \$9.99 Total

\$9.99 / peck Reorder Price Reorder

Order Summen

\$25 OFF \$125 MINIMUM PURCHASE (\$1.60) (\$1.50)

15"16# SMAIR 190"EH SMAIR

\$25 OFF \$125 MINIMUM PURCHASE Just Basics Besic Round-Ring View Binder, 1" Rings, 32% Recycled, White Item # 396291 Review This Product 5 \$2.89 / \$46.24 each (\$7.40) \$3.99 / each 16

Z56KWNKEF80005 CUSTOMER 12 PIP 2014 Item # 689572 Roview
This Product \$25 OFF \$125 MINIMUM PURCHASE Avery® index Maker® 30% Recycled Clear Label Dividers With White Tabs, 3-hble Punched, 5-Tab, Pack O15 Sets term # 470179 Review This Produce \$0.00 / each (\$16.00)Y \$24.997 \$99.96\ \$24.997set \$0.00 To Be Calculated

£

Total (\$42.35)

Related Orders

\$156.19 \$0.00

Payment Method: Amount: \$143.00 MasterCard 1391

94612-3461 USA

510-123-1234

1814 FRANKLIN ST STE 501 OAKLAND. CA

Billing Address HYDROMETRICS Billing Information

of 1

SC 1135 Bich 2338 Ord 739365598001 BO 829886 A Baich Pri U08 Die 11-06 19:33 94 PW20 C REGC

12/4/2014 10:19 AN

## Office DEPOT OfficeMax

## Return Detail

Return Information

Return Authorization Number: 739536978-001
Original Order Number: Your items are scheduled for: Pickup - Estimated date 11/10/2014 Return Carrier: 08:30 AM - 05:00 PM Tracking:

Return action:
Return for Criscill
Return Reason
Does not want from

**Billing Information** 

1814 FRANKLIN ST STE 501 OAKLAND. Billing Address HYDROMETRICS

USA 510-123-1234 94612-3461

Return Requested: 11.
Office Depot Rewards® Account:
Shipping Address:
HYDROMETRICS Return Summary 94812-1547 OAKLAND 519 17TH ST STE 500 Just Basica Basic Round-Ring View Binder, 1\* Rings, 32% Recycled, White Item # 395291 Review This Product 11/07/2014 Quantity To Return Price/unit Credit Reorder Price Reorder Tracking: 50 Normal Delivery Signed By: G SANDRA Status: Return: Credit issued Comments: \$2.497 (\$62.25) \$3.997 each 25 each

Subtotal: (\$62.25)
Delivery Fee: \$0.00
Taxes: (\$5.60)
Total: (\$67.85)

Refund Method MasterCard .....6195 Amount (\$67.85) Debt/Credit card

Reliable

Search by Keyword or Stock #

Keurig Deliciously Simple for Your Office Order No.: FTW07850(Shipped)

This order was placed via: WEB

Prices shown are representative of the original price at purchase.





C 4.8 G. 

2015 CALENDARS & PLANNERS ALL ON SALE





item Solails

Stock No.: BC28113 Bolise HD:P Color Copy Paper, 98 Bright, 500 Sheats/Ram, 8 1/2" x 11", 3 Hole Punched, 28 lb. An elfo color printip spore with amooth texture, radiard color clarity, and professional quality

Quantity Status SHIPPED 507.93 Item Total

Sub Total
Sub Total
Shipping
Handling
Surcharges
Tax \$37.98

\$100 \$100 \$142 \$48,39 Att HA. O.

19.1

Online Banking

ffice Supplies, Furniture, Technology at Office Depot

Account Name: Bank of America Business Mastercard - 1391 Transaction Details

Transaction date: Merchant: 11/10/2014 RELIABLE

Transaction amount:

\$49.02

Reference number: Transaction type: 05436844315600075842998

Merchant category: ALL OTHER DIRECT MARKETERS Expense category: Mail Order/Telephone Order Providers

Code: 5969

Office DEPOT OfficeMax

Return Detail

Return Information Your items are scheduled for: Pickup - Estimated date 11/10/2014 Return Carrier: 08:30 AM - 05:00 PM Tracking: Tracking: 50 Normal Delivery Signed By: G SANDRA Status: Return: Credit issued

Rehum Authorization Number: 739:534122-001
Original Order Number: 11,07/2014
Original Order Number: 11,07/2014
Orifice Dept Rewards69 Account:
Shipping Address:
HYDROMETRICS

1814 FRANKLIN ST STE 501

94612-3461 OAKLAND

Return Summery

16

\$2.42 / (\$38.85) \$3.99 / each 15

Just Besics Basic Round-Ring View Binder, 1" Rings, 32% Recycled, White Item # 396291 Review This Product

Return action: Return for Credit Return Reason Ondered Wrong item

Billing Information

Subtotat: (\$36.85)
DeliveryFee: \$0.00
Taxes: (\$3.50)
Total: (\$42.35)

Billing Address
HYDROMETRICS
1814 FRANKLIN ST STE 501
OAKLAND. 94612-3461 Amount: (\$42.35) / MasterCard Debt/Credit card

510-123-1234

ıf 1

## Fed :

FedEx Billing Online

THORNE OF BUILDING		
Tracking ID Summary		
Billing Information		Мезадея
Tracking ID no.	803034925615	Distance Based Pricing, Zone 3
Invoice no.	4-767-26992	Fuel Surcharge - FadEx has applied a fuel surcharg Read More.
Account no.	3698-5958-8	
Bill date	11/10/2014	
Total Billed	\$312.22	
Tracking ID Balance due	\$0.00	
Status	Paid CC	
Yew Inveice History		
View signature prograf delivery		

View signature proof of delivery	Signed by	Service area code	Delivery date	Proof of Delivery	Reference #3	Reference #2	Department no.	Customer reference no.	Original Reference	Declared value	Mater No.	Pieces	Weight	Package type	Zone	Service type	Payment type	Ship date	Shipment Details	US	OAKLAND CA 94612-1547	519 17TH ST STE 500	HYDROMETRICS WRI	DERRICK WILLIAMS	Sender Information	Iransaction Details
	T.SMITH	AM	11/11/2014 10:29					NO REFERENCE INFORMATION		\$0.00		•	80.00 lbs	Customer Packaging	03	FedEx Standard Overnight	Shipper	11/10/2014								
												Total charges	DAS Comm	Direct Signature	Weekday Delivery	Courier Pickup Charge	Fuel Surcharge	Transportation Charge	Charges	US	OLYMPIC VALLEY CA 90146	305 SPAIN VALLEY RO		MIKE GEARY	Recipient Information	
												\$11222	9.00	15.00	0.00	16,00	22.02	250,20								

11/14/2014 8:58 AN

Resort Service Fee:

\$ 9.90

ήl

## **Derrik Williams**

Bookings@ResorTime.com Monday, November 17, 2014 12:25 PM Derrik Williams

From: Sent: To: Subject:

Your Vacation is Waiting! Confirmation Number: 254910

# Reservation Confirmation ×

×

Dear Derrik,

Woo-hoo your vacation is official! We're excited to have you travel with us, and we know you'll love your stay at Red Wolf Lodge at Squaw Valley.

Before you go, please double check your contact information and itinerary below. If you find a discrepancy, contact us at (877) 477-7368 right away to update your reservation.

While you're thinking about it, why not share your vacation plans with us and your friends? We love to hear from our guests!

CO	CONFIRMATION NUMBER:	N NUMBER		254910
GUESTS:	Derrik Williams	RES	RESORT Red Wolf Lodge at Squaw Valley 2000 Squaw Loop Road Olympic Valley, California, 96146 530-583-7226 Nesv@noresotts.com	at Squaw Valley o Road alifornia, 96146
DETAILS	Arrival:	November 20, 2014		
	Nights:	-		
	Room Type:	Studio One Bath Sleeps 4	ath Sleeps 4	
	Rate Type:	Best Available Rate	e Rate	
SUMMARY				
S	Stay Dates	Room Rate	Discount Amount	Daily Rate
Thursday, Nov 20, 2014	0, 2014	119.00	0.00	119.00
Additional Markdowns:	downs:			-\$ 0.00
Coupon Discount:	<del>i.</del>			0.00
Tayae:				8 33

https://members.zipcar.com/billing/invoice/reservation?reservation\_i..

TERMS & CONDITIONS

Please note, front desk hours are from 8am until 6pm. Please contact the front desk in advance for after hours check in instructions.

# CANCELLATION POLICY

Reservations must be cancelled at least 7 days in advance of your arrival date or you will not be eligible to receive a refund. Room moves may be required.

# CHECK IN PROCEDURE

Please print this email and bring it with you as you travel. You may also view or print your reservation after signing into your account.

Thank you for choosing ResorTime for your upcoming vacation!

Sincerely,

The ResorTime Team

×

上(877) 477-7368

Add centralreservations@resortime.com to your contact list.

Tell Us Your Thoughts

zipcar

my reservation - zipcar

total cost for this reservation (last updated november 21, 2014)

2	S	W	œ.	0	D		November 21, 2014	(Squaw Valley Board Me	Compass Crisco at Oakland City Center November 20, 2014, 12:00 PM - November 21, 2 Driver: Derrik Williams
CA State & Local Sales Tax: 7.5%	CA Alameda County District Tax: 1.5%	Miles included with reservation	Extra Miss	Daily rate			November 21, 2014 Reservation	(Squaw Veiley Board Meeting - Phase II Stream Aquier Study)	Compass Crisco at Oakland City Center November 20, 2014, 12:00 PM - November 21, 2014, 4:00 PM Driver: Derrik Williams
		360 mles	49 miles	1 day	1 day	egeen			total
		\$0,00	\$0.45	\$62.00	\$72.00	rate			total cost: \$170.09
\$11.70	\$2.34	\$0,00	\$22.06	\$82.00	\$72.00	amou			170.00

Billed to credit card ending in 6618

**Total Cost** pending

\$170.09 \$170.09

Notices:

1. Onling cred does not cover bloket, violations, fees, and other non-reage
oranges.

2. Changes such as tolls and violations, which Zignet can receive weeks state a
reservation has ended, can affect the total out of a reservation.

2

Squaw Valley Guest Receipt

XXXXXXXXXXXX1349 DERRIK WILLIAMS 11/20/2014 5:51 PM I'rx ID:105745208 64 Signature: SERVER3 SubTotal: Mastercard Squaw Valley Credit Card Receipt Merchant Number:520 Gratuity:\_ Total: 98 57 Thank You! 86.57 POS:522 Group:1 Flatbread King Salmon

Ning Salmon

Ohx Sandwich

Regue Dead Guy Ale

Discount:

O.00

Na Sales Tax 7.5%

Mastern Card Number: XXXXXXXXXXXXXXXX349
Change Due: 0.00
Thank you! 11/20/2014 5:51 PM Tran ID:105745208 Surver SERVER? 12016:04 Blue Moon Draft Rogue Dead Guy Ale Shishito Peppers Item Amount POS: 522 Group: 1 1.21 6.04 5.50 6.41 10.00 13.00 23.00 15.00 6.41 86.5

10 14 10 000 0 0 1/10 762

I AGREE TO PAY TOTAL AMOUNT ACCORDING TO CARD ISSUER AGMI (MERCHANT AGMI IF CREDIT VCHR)

Customer Copy

10,45

037536 27

Acct Card Typ Auth Trans ID

Swiped

WILLIAMS/DERRIK XXXXXXXXXXXX1349

11/21/14 Check Typo Terminal EMPLOYEE 20048 Sale 2 115

7:32

WILD CHERRIES TRUCKEE, CA

Hydro/ Setrics WEI

B14 Frankin Street, Suite 50

1814 Franklin Street, Suite 501 Oakland, CA 94612

Mr. Mike Geary General Manager Squaw Valley Public Service District PO Box 2026 Olympic Valley, CA 96146-2026

December 3, 2014

Subject: November Time Invoice

Mr. Geary:

We have enclosed one invoice for work performed during November 2014. The invoice covers the following project:

Phase II Stream/Aquifer Study (Invoice number 2014236). Work in November included finalizing the Task 4.5 Report, and presenting the final report to the SVPSD Board of Directors on November 21. This task came in under budget; approximately \$2,941 remains on this Task. Although we have remaining budget, we anticipate that this will be the final invoice on this task. This invoice additionally includes Task 5.3 time for preparing for and attending the November 21 Board of Directors meeting.

\$11,390.62

Total

\$11,390.62

Although we have not developed the pumping guidelines for Olympic Valley (Task 3), we understand that the District may wish to close out this contract at this time. Please contact us regarding the preferred status of this contract.

HydroMetrics Water Resources Inc. • 1814 Franklin Street, Suite 501 • Oakland, CA 94612 (510) 903-0458 • (510) 903-0468 (fax)

As always, if you have any questions about our invoices, do not hesitate to contact us.

Page 2

Sincerely,

Derrik Williams

HydroMetrics Water Resources Inc.